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Epidemiologic Measures
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Cumulative Incidence assumes that entire

population at risk
followed up for specified time period
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90 91 92 93 94 95 96 97 98 99 00 01 Time at risk

A 6.0
B —— 6.0
C 11.0
D 9.5
E —_—X 5.0
Total years at risk 375

- time followed

X disease onset ID=2/37.5 person-years

=0.053 person-year
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Odds Ratio = Odds ./ Odds .
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Disease Status

Yes No Total

Exposure Yes a b |a+b
Status

No c d |c+d
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Cohort study

Disease Status
Risk e* =a/ (atb)

E Yes No Total
X Risk e-=c /(c+d)
p Yes a b a+b Risk Ratio=
0 = Risk e*/ Risk e
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[a/(a+b)]/[c/(c+d)]
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e
Slide YY
Case-control study
Disease Status
E Yes No Total Oddsd*=alc
. Odds d-=b/d
p Yes a b a+b Odds Ratio=
0 = 0dds d*/Odds d-
s | e d |c+d | o))
u =ad/bc
r a+c | b+d N
e
Slide Y¢
Case-control study
Disease Status

E Yes No Total Oddse*=alb
X Odds e =c/d
p Yes a b a+b Odds Ratio=
0 = 0dds d*/ Odds d-
s | ¢ d lc+d | =@bycr)
u =ad/bc
r a+c | b+d N
e

il gmonsl by b ol



